SAFCO Instructions

Minn§£$3'|i§‘,”§§§”és4zs INSTRUCTIONS
www.safcoproducts.com INSTRUCCIONES

2175

Ergo-Comfort® Swivel Mount CPU Holder
Ergo-Comfort® Support De Processeur A Montage Rotatif

Ergo-Comfort® Soporte De CPU De Montaje Giratorio

@
PRODUCT WARRANTY is available online at: www.safcoproducts.com
* LA GARANTIE DU PRODUIT est « LA GARANTIA DEL PRODUCTO esta
disponible sur I'Internet : www.safcoproducts.com disponible en la Internet: www.safcoproducts.com
®

For questions or concerns, please call 1-888-971-6225
available Monday-Friday 7:30 AM to 5:00 PM (Central Time) (English-speaking operators)

Si vous avez des questions pour poser ou les préoccupations Si usted tiene preguntas o preocupaciones,
pour exprimer, connecter au 1-888-971-6225 por favor llame 1-888-971-6225
de 7H30 a 17HO0 (Heure centrale) (Opérateurs de langue anglaise) de 7:30 AM a 5:00 PM (Hora Central) (Operadores que hablan inglés)

990000391: 1 of 5; Rev A; Rev Date 19-JUL-2021 Safco Products Company, Minneapolis, MN 55428



TOOLS REQUIRED: Phillips Screwdriver
OUTILS REQUIS : Tournevis A Pointe Cruciforme

HERRAMIENTAS REQUERIDAS: Destornillador Phillips

PARTS LIST / LISTE DES PIECES / LISTA DE PIEZAS

CODE / ) ary./ PART NO. /
CODIGO DESCRIPTION / DESCRIPTION /DESCRIPCION QUANTITE/ N° DE PIECE /
CANTIDAD NO. DE PIEZA
(A) |Slide Support Assembly / Support Pour Le Glisseur / El Apoyo Para EI Deslizador 1 460000182
CPU Stop / Le Rail De Guidance De L’ Ordinateur / El Rail Guia De La Computadora 1 470000502
(C) |Upper Bracket / Le Support Supérieur / EI Anaquel Superior 1 470000503
(D) |Lower Bracket / Le Support Inférieur / El Mas Bajo Anaquel 1 470000504
(E) |Handle / Le Manche / La Palance De Tiro 1 925000017

Screw M6 X 12mm
Vis M6 X 12mm
Tornillo M6 X 12mm

Qty. / Qté. / Cant. 6
905000032

Screw M4 X 19mm
Vis M4 X 19mm
Tornillo M4 X 19mm

Qty. / Qté. / Cant. 8

Washer 25mm X 11mm X 2mm
Laveuse 25mm X 11mm X 2mm
Lavadora 25mm X 11mm X 2mm

Qty. / Qté. / Cant. 1
915000091

Hardware Pack / Paquet Matérial / Paquete Material:
900000423

L+

4mm Allen Wrench
4mm Clé Allen
4mm Llave Allen

Qty. / Qté. / Cant. 1
920000005

o 0

3mm Allen Wrench
3mm Clé Allen
3mm Llave Allen

Qty. / Qté. / Cant. 1
920000061

905000537

Adhesive Pad
Tampon Adhésif
Almohadilla Adhesiva

Qty. / Qté. / Cant. 6
920000615

Le Bouton De LAjustement
El Bulto De Ajuste

Qty. / Qté. / Cant. 1
920000616

o <

S~~~
Spacer
Entretoise
Espaciador

Qty. / Qté. / Cant. 1
920000619

990000391: 2 of 5; Rev A; Rev Date 19-JUL-2021

Safco Products Company, Minneapolis, MN 55428



3

Keep the front edge Slide Support Assembly (A) about 5/8” back from the
work surface. Be sure you have enough clearance for proper movement.
Gardez I'ensemble de support de diapositive (A) du bord avant a environ 5/8
“en arriére de la surface de travail. Assurez-vous d’avoir suffisamment de
dégagement pour un mouvement approprié.

Mantenga el conjunto de soporte deslizante (A) de la arista delantera a unos
5/8” de la superficie de trabajo. Asegurese de tener suficiente espacio libre
para un movimiento adecuado.

(3)0%‘:?:;-

Pre-installed on handle (E). —
Préinstallé sur la poignée (E).
Preinstalado en la manija (E).

ON%
/.
\5 g; 33

ﬁﬁﬁﬁﬁﬁﬁﬁg\ﬁ'

990000391: 3 of 5; Rev A; Rev Date 19-JUL-2021 Safco Products Company, Minneapolis, MN 55428



990000391: 4 of 5; Rev A; Rev Date 19-JUL-2021 Safco Products Company, Minneapolis, MN 55428




BB 9 Y B ugRgR B U

SS S oS omm e

o
Safco Products Company, Minneapolis, MN 55428

990000391: 5 of 5; Rev A; Rev Date 19-JUL-2021



